Exam Review Answer Keys
Unit # 1 Key – Squares, Roots, Pythagorean		  Unit #2 Key – Operations on Fractions
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1.Rectangles: 1 unit by 24 units, 2 units by 12 units,
3 units by 8 units, 4 units by 6 units
Not a perfect square since 24 cannot be modelled
by a square
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3. Answers may vary. For example: 16, 25, 1024,
1600, 2401. 2500
4.2)25 b) 49 c) 81 d) 169
5.a)7 b) 17 c) 20
6.a)i) 1.2.3.4.6.9.12.18.27.36.54. 108
1,19, 361
1.2.3,5.6.10. 15,25, 30, 50, 75, 150
iv)1.2. 11,13, 22, 26. 143, 286
v) 1.2.3.4.6.9.12.18. 27. 36, 54. 81. 108.
162,324
vi)1.2.4.7.8.14, 28,56
b) 361 and 324: Both have an odd number of
factors.
7.44cm

8.4 =17 square uniis;s=Jﬁuni|s

9.a)V75em b) Y96 cm c)9em

10.b: I drew a square on each line segment and
found the area. Square b has a greater area.

11.2)26  b) 5 c)s0  d)13
12.a)6 and 7 b) 9 and 10
c)10and 11 d) 34and 35

13.2)2 b)3 ¢)5 d)6 €8 f)9

14.2)74 b) 8.7¢) 9.7 d) 102€)658 f) 10.7

15.8.49_ since 848" = 71.9104 and 8 49 = 72.0801

16.130 cm

17.a) False b) True ¢) True

18.a)34 cm b) 28 cm c) 162 cm

19.a)8.5 cm b) 7.8cm

20.Yes, since 24 +57 =81

21.No; 77+ 12°#15°

22.aandc

23.21: One solution, because i a Pythagorean triple
all three numbers must be whole numbers

24.40 km

25.42 cm
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26.The distance from each
‘possible position to x is the
Iypotenuse of a right
triangle with legs lengths
2 units and 3 units.
27.312km
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8.For example: % of a litter of mice are grey with
‘white patches. The othn% are black. Of the grey
and white mice, % are female. What fraction of

the litter 1s grey, white, and female? %
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